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A. Answer the following questions by choosing the best choice (a, b, ¢ or d).
1. He said that he had kept the library book for several years. ............ he had stolen it.
a. As a result b. In other words  ¢. Consequently d. Hence

2. Which of the following connectives should be used when the comment or argument in the
development of the topic may be very straightward, in which case ideas will be added together
one after the other?

a. Accordingly b. However ¢. In spite of that d. All the same
3. Which of the following tenses do we use when we report a particular procedure?
a. present active b. past active c. present passive  d. past passive'
4. "The bark is stripped from the trunks which are sawn into logs.” This is an example of .........
a. exemplification  b. description ¢. narration d. ciassification
5. The student with ......... I share a room is very noisy.
a. which b. that ¢. whom d. whose
6. Ireland, which isan island,................. the west coast of Great Britain.
a. is laid off b. is lied off c. lied off d. lies off
7. If she had enough money, she would travel around the world to see different placcs such as
.............. Lake Baikal and ...................Himalayas
a. the / the Bl B i / the d.the/.....
8. What do we call an account of events in the past which entails following a time sequence or
chronological order?
a. narrative b. description C. comparison d.classification
9. Kent University, in south-east England, and Warwick, in the Midlands, ......... ....in 1965.

a. are founded. . - b, had founded c. were founded d. have been founded

10. In the following definition, “An ammeter is used to measure electric current.” what type of
mistake has been made?
a. An example is given rather than a definition.
b. We need to give example of what we define.
¢. The general class, or the particular characteristics arc omitted from the definition.
d. The word to be defined, or another form of it, is used in the definition itself.
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11. When are similarities and differences often noted?
a. when classifying b. when discussing
| . c.whendefining .. ......_.. ... ..d.whennamating
12. ........ amount of time was spent in lectures............ in seminars.
a. Most / than b. A greater /than c. Notsomany /as d. As many / than
13. The bottle must be handled very carefully ............ there is acid in it.
a. due to b. because of c. as d. through

14. “The cause o/higher prices was an increase in demand.” All of the following sentences
have the same meaning EXCEPT ... .. ...

a. The reason for higher prices was an increase in demand.

b. The demand has increased; hence, the prices are higher.

c. Since the demand has increased, the prices are higher.

d. Higher prices lead to an increase in demand.
15. What do you suggest to make the generalizations more precise?

a. We should use probability. b. We should qualify them.
c. We have to use classification. d. We have to use comparison.
16. Which of the following is used to check if a word is frequency?
a. How? b. How many? ¢. How much? d. How often?

17. Which of the following shows cautious agreement?
a. I agree with him when he says that business and pollution are synonymous.
b. He is certainly correct when he says that business and pollution are synonymous.
c. I agree with him when he says that business and pollution are synonymous but, so many
other factors are contributing.
d. He may be correct when he says that business and pollution are synonymous.
18. Which of the following often involves making a summary of the main points already made?

:‘i..*-" *li!nuo! _1-;““

a. Introduction b. Conclusion ¢. Discussion d. interpretation
19. Which of the following should you use when you are summarizing?
a. Altogether b. In conclusion ¢. In a word d. On the whole
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20. Which of the following is included in the preliminaries part of a research report?
a. the title b. the abstract c. the bibliography ~ d. statement of the problem
21. Which of the following contains an error?
a. This information is useful. b. Seems that we should leave you now.
c. I work in the library every day. d. They were not at home yesterday.

22. How many grammatical mistakes can you find in the sentence: “Table 3 is showing that most
of this accidents occurs to young children.” ?
a. one b. two c. three d. four
23. Which of the following contains the WRONG use of make / do?
a. He did a number of attempts to finish the work.
b. She had some difficulty in doing her homework.
¢. He found that he could not do the research.
d. Many discoveries have been made this century.
24. Which of the following is WRONG?
a. The landlord said he is going to raise the rent.
b. The cost of living index rose by 10% last year.
c. Bus fares were raised three times, last year.
d. He tried to rise money for a new project.
25. Which of the following words is a NOUN?
a. economic b. logic c. affect d. practice
26. Which of the following is a formal style?

a. I showed that his arguments did not hold water.
b. We will finish the job next year.

c. It is possible to consider the results again.

d. We won't be able to come this week.
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27. Which of the following is a definite statement?
a. Industrialisation tends to be viewed as a superior way of life.

b. Industrialisation is viewed as a superior way of life.
c. Apparently Industrialisation is viewed as a superior way of life.
d. Industrialisation is likely to be viewed as a superior way of life.
28. Which of the following words contains a different vowel?
a. build b. people c. mean d. green

29. Which of the following contains the WRONG use of punctuation?
a. It is years since [ read Anna Karenina, which is my favorite novel.
b. I shall need a book, some paper, a pencil, and a ruler.
c. I have some news for you: John's father has arrived.
d. The lecture was badly delivered, it went on far too long as well.
30. Which of the following contains an error?
a. The course has taught me a lot.
b. Some students were late this moming.
c. The number of students on the course are less than last year.
d. The England football team were beaten by Italy last week.

B. Choose ONLY FIVE of the following items and write a paragraph of 50-75 words for each.

1. Describe a process (ex. How paper is made).

2. Write a passage tracing the development of universities in your country.

3. Write a definition of a subject of study. Describe part of it together with examples.

4.What is the classification of the education system in your country? Write a brief description of
it.

5. Compare and contrast your country / city with a less developed one. _. {;": “":';ﬁ

6. Describe poverty in your country-its main causes and effects.




